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Which among following is a mechanical property?
(a) s/ Weight (b) =raeRdr / Conductivity
(c) gwehradl / Magnetism (d) e / Toughness
wW-dy % fTu, fore Yehr o 2 T ST BlaT 8 ¢
Which type of chuck is used for self-alignment?
(@) & vwer @-d=far/ Three Jaw Self-centering
(b) =R Swel3fugdve= / Four Jaw Independent
(c) o Serer 3fogive= / Three Jaw Independent
(d) 390 H ¥ IS A1 / None of the above
EQSE RERE] 3 fore foran ST 21
Counter boring is done for
(a) B¢ % I H FE % / enlarging hole diameter
(b) BT % BRI % GEtuA ! 3k & / deburring hole ends
(c) ¢ H e H T F / finishing surface of hole
(d) UHETET ! W@ / accommodating socket head screw
ET I T T & forq gran 81
Feeler gauge is used for
(a) &< H wlerar it 3= / checking the accuracy of hole
(b)  Gadl GeA it 9 / checking surface roughness
(c)  wm s Bisan i i / checking radius of the work
(d)  afém wmit % sfte i gl i A=/ checking gap between mating parts
3 PC-04/2018
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Which of the following is used to hold the end-mill cutter on milling machine?

(a) o ¢k / Collet chuck
(b) &gt / Three jaw chuck
(c) W& 3mR/ Stub arbor

(d) g3 «R/ Draw in bar

FHTe o TIT Y THTS B

Unit of cutting speed is

(a)  HI&/ Meter/rev
(b) X / a2 / Meter/min
(c)  Rev/HT/Meter

(d) IWHHBHE TR / None of the above

A ITHRT % fIT Fehreft RPM &t vl e o fore freferfaa & @ sia-wn wrden @t 27 i@, #1ed &
39 o T ‘D’ = @ 3R S e wf e o wadt i 21

For a rotating tool, which of the following formula is correct to find out spindle RPM? Where D
is diameter in mm of the cutting tool, and S is the surface speed in meter per min.

(a) 7t S/ (D x 1000)

(b) =D/ (Sx1000)

(¢)  (Sx1000)/mD

@) (Dx1000)/7nS
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10.

11.

Tgt € fget 1 7S B2 1 3R ST A o foru 3wt 3ushtor it whed @
A tool which is used to enlarge previously drilled hole is known as

(a) ST IyehtuT / facing tool (b) 2 3qeRtur / turning tool

(¢) W™ 39T / form tool (d)  =fGT 39T / boring tool

sregfufem wm A, e % fou a= & e s swm aare?
Which coolant is used for drilling in Aluminium work piece?
(a) g@lag/Dry Air

(b) IS/ Kerosene

(c)  HeWarer / Soluble oil
(d) 39k H A I3 &l / None of the above

ek irer 36 4 il 3 ot ot 00 ) e

Distance between two teeth of a gear is called

(a) 9=/ pitch
(b) <</lead

()  WieYeT / module
(d) IWIHH A IS 781 / None of the above

Fepivfiet &1 <gad Tt 2

Least count of a micrometer is

(a) 0.01 mm (b) 0.001 mm
(c) 0.001 inch (d) 0.01 micron
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12.
i
1
13.
| 14.
4
15.
16.

T 50 mm Y& 1 ET, R 20 mm AT BT 36k Th 98 W sifrerra § | 39 T o ¢ fame
ST | ST <) T ) FEAd ol 3 g/ om’ Wi IHH STl

Calculate the mass of a S0 mm side cuboid in grams with a through hole of diameter 20 mm
perpendicular to one of its face. Assume density of the material of cuboid as 3 g/ cm’.

(a) 343 gram (b) 0.328 kg
(c) 280 gram (d) 0.356 kg

I ET o =y Ea % ofie o 3T FEd @

The difference between upper limit and lower limit is called

(a) e/ fit (b) Hﬁ»’ﬂﬂm / tolerance
(c) fafSrerar / variation (d) o=@/ deviation

wH 50 + 0.05 mm ¥ =37 % w5 & Rt e mn af sw st B Sl w R @ a @ R
T o ST BT

A shaft is manufactured with a diameter of 50 + 0.05 mm. If the maximum material condition is
to be maintained, the diameter of the manufactured shaft will be

(a)  49.95mm (b) 49.095 mm
(c)  49.995 mm (d) 50.05mm

T 30 mm < I ¥ g §, Tad oS AR o TG T U&7 S FHIA S Fehll @

The side of the largest size regular hexagon that can be inscribed in a circle of radius 30 mm is

(a) 42mm (b) 36 mm
(¢) 30mm (d) 40 mm
e st s ot e e &

The least count of Vernier bevel protractor is

@ 1° ' ) 10’

(c) T @@ 5
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17.  AFATATRIA T
Marking tables are made up of
(a) =hr A/ Concrete (b) FFHHEHE / Aluminum
(c) eadi@rR ¥/ Cast Iron (d) 39Uk H ¥ his el / None of the above
18.  af: affaw Hftrd o1 Sha ar=d 25 mm 2 3R 28" afier =1, g Shet & fGueH & ¥ wrar 21 affw
= et 0.02 mm 81 79 @
If scale reading of Vernier calipers is 25 mm and the 28™ Vernier, division coincides with the
main scale. Least count of the Vernier is 0.02 mm. The measurement is
(a) 2528 mm (b) 25.14 mm
(¢) 25.56 mm (d) 25.00 mm
19, MI12 ISO By Toet om) &1 3R 3
Pitch of M12 ISO metric coarse thread is
(a) 1.75mm (b) 1.00 mm
(©) 1.50 mm (d) 0.80 mm
20.  firer & S U STafte FT ) HAE I URUe S 3R GURA o fore aftes e e st 21 Frafafaa 3 @

-1 YA TE 27

A finish cut is given to improve the surface finish of a rough milled work piece. Which one of the

below mentioned statements is true?

(a) e Y i e, w1e Y TeUS 3R e &/ Decrease cutting speed, feed rate and depth of
cut

(b) IS T I G, FIe hil TeUS 3 FHeA i R I =HeHT / Increase feed rate, depth of cut and
reduce cutting speed

(c) e Tl FQMI, e sht TaUS 3R e 6 7T / Increase feed rate, depth of cut and cutting
speed

(d) e i Tl B SIgET, hIS Rl T 3R FE A T / Increase cutting speed, reduce feed
rate and depth of cut

7 PC-04/2018
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21.

22,

23.

24.

o fir afeu # 36 @fd (z) 317 3 mm % Hiesel (m) ¥ 3G SR =T 1 gt ?

A gear wheel has 36 teeth (z) and 3 mm module (m). What will be its’ pitch diameter?
(a) 12 mm (b) 75 mm

(¢) 80 mm (d) 108 mm

7ol 3N 3E arfefieh Susr § amf 3R and ufkw gred o1 TR % S qEd 2

The main purpose of using worm and worm wheel drives in machines and their accessories is to

(a) Y9 A U3 o1 §=R / transmit large torque

(b) =i @l B / provide large speed reduction

() o 3TaHM el /vl 3 siter farsteft T E=TT / transmit power between two non-parallel shaft
(d)  3us o @t/ All of the above

sq-fufgmd
In up-milling
(a) et % gl o fewm # el At s T ST @ / the work is fed in the same direction as the

rotation of the cutter
(b)  #re s o g fehret S Bt @ / chip removal starts at the thickness part

(c) ufaaw foreliues WYl 37av9e @ / machine with backlash eliminator is essential
(d) e Eoit i frada fen § % # e fFn S R / the work is fed against direction of the

cutter rotation

T 1.8 Mot et X 1.2 Hiet Sers & Siisl 0 S9! Ju g s 2 7aa fore a1 fore wem it wef B
e

You have to machine a flat surface on a work piece of 1.8 meter length X 1.2 meter breadth.
Which machine will you choose for this?

(a)  3ISH / Planing (b) @iaTsHMT/ Slotting
(c) v/ Milling (d) ifd/ Shaping

8 PC-04/2018
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25.  af T feEr iR 0.4%, FR0 wri A rEfy A R, @ 500 WwT % e # fohe Ffeqed vt A

26.

27

28.

3rgfd am?

If a quality control policy allows at the most 0.4% defective parts, how many defective parts are

allowed in a production of 500 parts?

(@ 1 (b) 2
(c) 10 (d) 20

freferfiaa 8 & 19 @ 77, feat @R & =9 g oM o gerIdl Hidr 87

Which one of the following groups of properties enables the manufacture of chain hooks from

wrought iron?

(a)  =ar, fear 3t e / ductility, malleability and hardness
(b) TSI, HeTe[dl, T4l / hardness, toughness and ductility
(c) Tueat, g=rar 3 Wit / malleability, ductility and toughness

(d) ST, TTeT 3R YOI / hardness, toughness and brittleness

U G T T SR T & G Bl 8 | -8 °1 SHR, “Very Fine’ %1 gferd tdi 7

Grain size of a grinding wheel is indicted by numbers. Which range of grain size referred to as

‘Very Fine’?
(a) 10-24 (b) 30-60
(c) 80-180 (d) 220-600

Freaferfaa # @ s —a sya fg-d-foig fremmor yoreft st srgeror sedr 87
Which one of the following applications uses point-to-point control system?

(a) U5 Ew@r/ Milling profile (b) &4/ Turning

(¢) A=A/ Drilling (d) 9w/ Grinding

9 PC-04/2018
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29,

30.

31.

32.

TR Yewie % denell 11eh T Tad 311k ST § o SIHdTel S9X i |1 87

Which taper is the most commonly used on spindle nose of the lathe headstock?

(a)  SHi29/ Jerno taper (b) =134 3 wd 2 / Brown and sharp taper
(c)  f&F 3w/ Pin taper (d) WIE W/ Morse taper

5o e & B S % w6 N Ry S ¥ e R S §) s, Reafafd @ 3 fheeR, W 9w &
e gm?

In a milling machine, rough and finish boring operations are carried out to machine a hole. Which
one of the following you will select for rough boring?

(a) 3= dehelt Tid 3T €A 61 / high spindle speed and coarse feed
(b)  efieft qenett ifa 37 we $€ / slow spindle speed and coarse feed
(c) it denrctt mfa 3R 7EH $re / slow spindle speed and fine feed
(d) 3= dehedt i TR WEH HIE / high spindle speed and fine feed

TeTat AT ST GHY fohe Siideteh T SURINT BT =Tiee?
While machining cast iron, which coolant should be used?
(@) gEl&ga1/ Dry air (b) Tufterda / Kerosene

(c) @A % d / Machine oil (d) @mRTUHt/ Soft water

Wﬁﬁmsﬁﬂ%&mm%mﬁaﬁ%m,ﬁmﬁﬁﬁ—mmmﬂﬁ341?11%?

Which one of the following equipment is used in the shop floor for checking of form that is being
turned?

(a) =2/ Template
(b) EUIS / Snap gauge
() IR 3t 3 it 71 / Dial test indicator and slip gauges

(d)  3YHT HET BT / Tool room microscope

10 PC-04/2018
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33.

34.

35.

36.

A & Ve T Teh Tl LT T ohl ST ST 2 | 6 R T 1 1 9 g1 2 ?
A travelling steady rest is fixed on the saddle of a Lathe. What is the function of this steady rest?
(a)  oaTe e i & ik I e Shi Ml & Mg T FeIHAT Y T @ / enables to turn at higher

cutting speeds than recommended

(b) sl QTS o AN, Y Rl W R shi 31AfT A& T / to avoid load on the lathe centers while

turning long

(c) @IS % G, e o ITHWT W WR FH & / to reduce the load on the cutting tool while
turning

(d)  hre sl wfRAT o HROT TF QUET i g | UshaT 2 / to prevent bending of long shafts due to

cutting forces

TS AT 3 HeRTHsH % TT hTH AT B
Indexing head mechanism works with

(a) ¥ M e iR/ rack and worm gear  (b) o 3t am fiER / worm and worm gear
(c) Tapveefer e / two helical gear (d) fgsfiaat i/ two bevel gear

Teh SAATeRR 907 T W, 50 mm AT % Ged W U i e dwur o shl stawaerdr 21 afe sd i
Tyoprfeer <t 18 wag 1fd 33 dir wfa e At rppm 12 7

It is required to finish grind a dia. 50 mm hardened steel shaft on a cylindrical grinding machine,
if the recommended surface speed of the work is 33 meters/minute, then rpm of the work is

(@ 190 (b) 150
() 210 (d) 250

HSS & 3cdq1e #, forg dca ol &g & e ffsa fran Srar 27
Which of the following elements are alloyed with iron to produce HSS?

(a)  shifeem, feher 3R Aifetse ™ / Chromium, nickel and molybdenum
(b)  Fraha, Aifersem 3 fafershi= / Nickel, molybdenum and silicon

(c)  wifem, ATfeae 3R s / Chromium, vanadium and manganese
(d)  wifrm, Irfead 3R @ / Chromium, vanadium and tungsten

11 PC-04/2018
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oy F, e i 3ot o foru wet stfireafs wma?

Which is the correct expression for the unit of feed rate in milling?

(a) m/Rev (b) mm/rev

(¢) mm/m (d) mm/min

AY I ST BT 2

Lathe bed is made of

(@ 93 &I/ mild steel
(b) Twai @er/ cast iron
(c) fm/ titanium

(d) gt / aluminum

Fraferfiaa § @ wH-41, e o ot verd i Hm Ad 27

Which of the following is not a function of cutting fluid?

(a) 39T ot 3T AT / To cool the tool

(b)  Tawa =t smex FehreT / To flush away the chips

(c) Tud 3t 3uehta % o o= wur g1 / To increase the friction between the chip & tool face

(d) =k @t &/ To cool the work piece

we Gyt de o, frer 8 & i v A e
A combination set doesn’t contain which of the below mentioned part :

(a) TS/ Square head (b) ®/Rule

(c) R TE/ Protector head (d) =39/ Dial gauge

12
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41. A h3s 2|
Newton is the unit of
(@) i/ distance (b) T&Te / pressure
(c) <</ force (d) St / energy
42. fefafga d @ S=-a1, ge@ 9l arg 27
Which among the following is the heaviest metal?
(a)  WAf¥Em / Magnesium
(b) a?gﬁﬁw / Aluminum
(c)  dfsm/ Copper
(d) e (dar) / Lead
43.  oTg e % SN SEeh YR Y ST oh &0 i e STl &
The property of a material to resist sudden load during metal cutting is termed as
(@ 3EF=E/ cold hardness (b) T HeSTs / red hardness
(c)  #siedl / toughness (d) ¥XqUH / brittleness
44. @ ) AR R
Stress is defined as :
(a) YR x JATIEA I I &7 / Load x area of cross section
(b) & x @HA/ Force x time

©
(d)

ot x gl / Force x distance

IR / TTIE I T & / Load/area of cross section

13 PC-04/2018
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45.

46.

47.

48.

It e o6t 7fer, vl fime 4 et 3 Swshtor $ig 0.5 mm Wfd goma & df 420 mm & 3K 50 mm =19 &

T T e o T STrarwres a1 27

If the cutting speed is 4 meter per minute and the tool feed is 0.5 mm per revolution, what is the

time required for one complete cut on a piece of work of 420 mm long and 50 mm diameter?

(a) 3 T2 / minutes (b) 5T / minutes
(¢) 172/ minute (d) 2fie / minutes

AT, 308 39 Ue 1 34t o g fopat 2idt 27

Generally, hand tap set consists of how many numbers of tap?
(@ 6 b 3

(¢ 1 d 2

AT HIEFERT o ATE i 194 & foTu 3wt 71eh Iuekior @

The standard tool used to measure the diameter of an internal recess is

(a) T HFAR / Vernier caliper

(b)  va-fog =& AFIHIE / Five-point internal micrometer
(¢) I/ Dial gauge

(d) F-fag swewt Asifiet / Three-point internal micrometer

Wit =erd @, fefafed § @ fored om shed o1 aet yanT S 7

Which of the following material requires less cutting force while machining?
(a) 2=/ Titanium

(b) WHoE @i / Stainless steel

(c) Tegfufiaw / Aluminum

(d) @i &g/ Cast iron

14
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49.  uhAHS fea & fou afdifoq o2
Included angle for a standard drill is
(@ 90° (b)y 118°
()  108° (d) 125°
50.  diqd, fasreng @
Brass is an alloy of
(a)  f&F3Rafa %/ Tin and Copper
(b)  srcgfmfrm ok iy ) / Aluminum and Magnesium
(c)  dis 3R 5k &1 / Copper and Zinc
(d) R s fs 1/ Tin and Zinc
51, 599 @ -9, Gl T 3T g} 27
Which among the following is the hardest tool material?
() TIwETH / HSS (b) =EsE/ Carbide
(c) T&ufies / Ceramic (d) ¥/ Diamond
52.  wefifF1 4 EDM 1 aref @
EDM in machining stands for
(@  Electron Discharge Machining
(b)  Electric Direct Machining
(¢)  Electric Discharge Milling
(d)  Electrical Discharge Machining
15 PC-04/2018
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33,

54.

93,

CNC 1 319 ®

CNC stands for

(@  Computerized Numerical Control
(b)  Computerized Newer Control

(¢)  Computerized Normal Control

(d)  Computerized Nano Control

ol @ AT, Afraries it wfw 27
Which one of the following is conventional machining process?

(@) SRS/ Laser cutting
(b)  wmfe Wit / Chemical machining
(c) TUeideH s Axfifm / Electron beam Machining

(d) CNCuwu / CNC Milling

CNC SiufinT & G-90 w1 39417 8l &

In CNC programming, G-90 is used for

(a) el fefd / incremental positioning
(b)y Td feufa / absolute positioning
(c) Hre¥=eH / motion in feed

(d) st s =@ / motion in rapid

16
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56.

7.

58.

CNC Sunfier # GO3 1 39T 8T 8

In CNC programming, GO3 is used for

(a) &I =e / linear motion

(b) o 9 / rapid motion

(c) I e gt faem H / circular motion clockwise

(d) o< geH u€t 6 faudia fewm & / circular motion anti-clockwise
CNC s fier § M03 &1 391 3l &

In CNC programming, M03 is used for

(a)
(b)
(c)
(d)

Yfideres =Tc] / coolant on
urgt Y fm o guTa % w1y Gkl =Te] / spindle on with clockwise rotation
o) Y foradia fawm o @l qehett =ITe] / spindle on with anti-clockwise rotation

Yitdeteh 92 / coolant off

frafaRaa ufswan § @, Sead add afgular SH-91 YaH i 87

Amongst the following process, which provides the best surface finish?

(a)
©

e / Turning (b) fafgm / Milling

9997 / Grinding (d) <&/ Lapping

17 PC-04/2018
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59. 3 @ we-a o e RY

Which one among these is not a chip?

(a)
(b)
(©
(d)

AR / continuous

Faft—areft / discontinuous

gfdet / spiral

A g feRT o |1 TRTIAR / continuous with built up edge

60. ﬁmﬁ%ﬁﬁ%@ﬁmﬁaﬁﬁqmmaﬁmﬁu

Identify the tool shown in the following picture :

(a)
(©)

39T 1 / Tool gauge (b) e/ Feeler gauge
gt / Filler gauge (d) B/ Radius gauge

61. ﬁn%f@aﬁﬁ@r&ﬂqﬁaﬁﬁﬁmmﬁmﬁq

Identify the tool shown in the following picture :

(a)
(b)
(©)
(d)

s srer HRAW / Precision outside caliper

Fromfrs mew AsiHiet / Precision depth micrometer
remfis sree- Asiiet / Precision internal micrometer
Fromfys arer et / Precision external micrometer

18
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62.  I&YUI T KT HIVT, SIGET STANT foha STTeft 87
Which angle of projection is most commonly used?
(a)  9eE I/ First Angle
(b)  fgdf==ior/ Second Angle
(c) g/ Third Angle
(d)  =gd @I/ Fourth Angle
63.  feaferiigd § & shiq-w1 g Iy o @iden 87
Which among these symbols represents flatness?
(@ © (b)) F
() O (d o
64. <A g, arg R wfpn A 27
Which one is not a metal removal process?
(a)  CNC fafgm / CNC Milling
(b)  3teer@rae wefifa / Ultrasonic machining
(c) SR i/ Laser Cutting
(d) 3D fufém / 3D Printing
65. SIS Heh JUHLUT U T 10T 2
Angle of Counter Sunk tool tip is
(2 118° (b) 120°
(c) 65° (d 90°
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e : e fea e R 1 2Rag 3R T 66 @ 70 T F W F o ffa| w19 & auiene dias 27
Note: Please refer the Figure given below to give the answers from question No. 66 to 70
Which alphabet represents?

H
- B,

66. Qg

Shank

@ D (b) B

) C @ A
67. U IH DI

Side Rake Angle

(@ H (b) I

¢ F (d D
68. ok o Il

Back Rake Angle

@@ J b) I

(c) H d G
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69. urE
Flank
(@ L (b) B
© A (d D
70.  g&7 hfg R ehror
Side Cutting Edge Angle
(@ J (b)) 1
(¢ H (d F

71.  FrefaRad amiE @ agd wud & fam 1 safed i
g Wi, Vo wid, didel, Tre

Arrange the materials in the order of increasing hardness :
Mild Steel, Stainless Steel, Brass, Tungsten
(a) g W, R &, didd, & / Mild Steel, Stainless Steel, Brass, Tungsten

(b)  de, 45 Wid, Ve Wd, TR / Brass, Mild Steel, Stainless Steel, Tungsten
(c) Wi Eid, 93 ©id, didel, T / Stainless Steel, Mild Steel, Brass, Tungsten
(d) 3meA, gg Wi, RAew €, diae / Tungsten, Mild Steel, Stainless Steel, Brass

72.  Gdumaferd WA T ITT B @
Pantograph machine is used for
(@ TGTH/ turning
(b)  fafgT/ milling
(c) iUz 3w H / copying and scaling
(d) &=/ punching

73.  CNC Wi #, ATC @ideh &
In CNC machines, ATC represents
(a)  Automatic Turret Changer (b) Automatic Table Controller
(¢)  Auxiliary Tool Clamper (d) Automatic Tool Changer
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74. = T e ot wieh ©

Below mentioned figure represents

(a) %y fifgm / Face milling
(b) 9 g/ Shell milling

(c) wq@t / Profiling
(d) wefafgn/End milling

75. v fom e fom wiae @

Below mentioned figure represents

(a) %9 fufgm/ Face milling
(b)  a fafgn / Shell milling
(c) ®w@r/ Profiling

(@) A= fufgn / Gang milling
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76. = fem mn feE wide @

Below mentioned figure represents

(a) %@ fafgm / Face milling (b) ¥ fafgm / Shell milling
(c) ®q@i/ Profiling (d) @ag fufgm / Surface milling

77.  wga’ Hart B a” F g faw
For a square of side “‘a’’ and circle of radius “‘a”’

(@) I I &%, 971 % &1 el A AUH 8 / Area of circle is greater than area of square
(b) ol 1 S, I % &% ¥ 3 & / Area of square is greater than area of circle
(c) i 3R g 1 &%t SR & / Area of the square and circle are equal

(d) 39Uk T & IS 71 / None of the above

78. 0.5 kg R FH AT 16 foret urt 21 a1 S AM?
A bucket of 0.5 kg mass contains 16 liters of water. What will be the total mass?
(a 16.25kg (b) 16.00 kg
(¢) 16.50kg (d) 15.60kg

79.  6°FHUH fohd AU 7
How many seconds are there in an angle of 6°?
(a 18000 (b) 1800
(c) 21600 (d) 2160

23 PC-04/2018




siqfter T s (TauE) /sad
'4“ SPACE APPLICATIONS CENTRE (SAC)/ISRO SET
Tudl |i5Fa ‘o
Fris qEfRE- (Fehife) A
TECHNICIAN ‘““B” (MACHINIST)
80. 500 Ak SIS &
500 micron is equal to ——————
(a 02mm (b) 0.2cm
(¢) 0.5mm (d 05cm
81, St ST ST iV
Internal angle formed in a pentagon is
(a 60° (b) 72°
(c) 45° (d) 108°
82. 50,70 30T 120 1 ATICHR-HIEA &
The arithmetic mean of 50, 70 & 120 is
(@ 120 (b) 240
(¢ 100 d) 80
83. oo b1 e A 600 mm’ 2 1 Sk v Y s R 2l
What will be the length of a side of a cube whose surface area is 600 mm2?
(@ 06 mm (b) 10 mm
(¢) 60 mm (d) 100 mm
84. TRsinA=2%,cos A=>5%, tan A F R
If sin A =2, cos A =5, what will be tan A?
(a 02 (b) 0.3
¢ 1.0 d 04
g5.  ufrem Bt 2018 1 FE-HSEH TR RHA-|T 87
Which city co-hosted Asian Games 20187
(a) Sl / Jakarta (b) @@/ Dhaka
(c) 3=/ Incheon (d) ShTeRre / Bangkok
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W kT YIH IYUE AT
India’s first Satellite was
(@) TWA/ Apple (b) el / Rohini
(c) W=/ Bhaskara (d) eRiwEr/ Aryabhata

Frefofiea o & forgent " w@ wm A gan?

Which among following is not a recipient of Bharat Ratna?
(@)  #Tsita e / Shri Rajiv Gandhi

(b)  #t. w. . ar5TE / Shri A.B. Vajpayee

(c)  #it<mst g/ Shri George Bush

(d)  #ft. 9o quSar / Shri Nelson Mandela

TSI AT & 37598 A 27

Who is Speaker of Rajya Sabha?
(a) . TE A/ Shri Narendra Modi (b) #ft. s1ftra s / Shri Amit Shah

(c)  #io=ren A1gg/ Shri Venkaiah Naidu  (d)  #fmfd gfis #ersH / Smt. Sumitra Mahajan

AR o 9o Tgafd s 97
Who was India’s first President?
(a)  vfed SaTeteTd 98% / Pandit Jawaharlal Nehru

(b) . €Y. gsmMuTETE / Shri C Rajagopalachari
(c) . TS yHE / Dr. Rajendra Prasad
(d)  #ft. 3. dehe THF / Shri R Venkat Raman

I ST Yo SF-feen e o

India’s first interplanetary mission was

(@) =E™A -1/ Chandrayan -1 (b) snfeen-1/ Aditya-1
(c) T IH/ Mangal Yan (d) MW/ Aryabhatta
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9] *1d & f¢ T / Space for rough work
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%= %d & T TF / Space for rough work
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10.

11.

12.

mﬁmaﬁmwﬁaﬁmgmqeagﬁ?mqﬂﬁaaﬁ‘s'(A/B/C/D/E)ﬁrmm e
%aﬁnﬁﬁm&ﬁimmaﬁaﬁélwaaﬂﬁw,maﬁzﬁaﬁaﬁﬁ
STTafT|

Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is
mandatory to be written on the OMR sheet in the box and bubble appropriately. Failing
which, the answer sheet will not be evaluated.

q@waﬁmmwﬂﬂ)sﬁ%;maﬁna[ar(O)&ia:z%'ansﬁrmmw
A utse @ wig (—0.25) 3w HA fHar S

Each correct answer will carry one (+1) mark; Zero (0) for no answer and minus
zero point two five (-0.25) for a wrong answer.

Ry oY v & T & RFeal I A W 3cd? Ield AT S0
Multiple answers for a question will be regarded as a wrong answer.

NTAIR Mo F wagEs ol e AR e ger et S
Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.

UTEATEH!, AlCH I, A Y AT e A e

Computers, calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

ST @ T Ge UF & 3UCeH TS H YAET 6 FE & AU R S whAT §1 P
sfaRed efe g & Seef|

Space available in the Question Booklet can be used for rough work, if required.
No separate sheet will be provided.

SFfEaR # alET & Ugd HE & aNI qdeT gfd BigA HI AT Tl o

Candidate are not permitted to leave the Examination Hall during the first one hour of
the examination.

mﬁmmmmmaﬁ@\éﬁ(i)ﬁam(ii)ﬂgmmaﬁa
(Waﬁmm%ﬁzmmﬁwwm%l)

Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket
(ii) Original OMR sheet (copy of the OMR sheet to be retained by the candidate).
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